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Question Bookiet and Answer-Key

Recrultment Test of JE(ClVll), Local Govt
Punjab Held on 30.3.2014.



Directions Q. No.1-4:- Choose the opposite of the given word out of the four given options:-
L. Taciturmn
_,A) Talkatlve ... B) Arrogant i C)'Respeet_ful - D)Tiite

2, © *'Chary % Bl oty 21 ol Pl ol seaalt
A) Careful B) Heedles_s - Q)_Friendly _

D) Mellow

3. - Continual dint ke fa i
A) Contmuous . B) Corroswe L C) Sporadie . D Certam

4, «; -:Emolhent = o : s fnt
A)Fetid B)Cruel - _C)Equwocal -

D) Imtatmg

Directions Q. No. 5-7 Choose the correct preposrtlon, out of the four g1ven opttons to be ﬁlled

in the blanks of the following sente_nces - g P '

5. Sachin was '1Iways alive -~ the ground condruons
A) to SRR B) about C) for -

‘__:D)of 4 '

6. - _Most of the people in rural Indla lead a mlserable exnstence that has nothmg to smg and
iidance &y Sk SRR
n, A) upon

s -fShrvanand s a abhorrence fanat1c1sm 1s known foall
o Aywith B) about

:'_%Dlrectmns Q No.8-10 In the foliowmg sentences four optlons are gwen as the meanmgs or
“the underlined idioms/ phrases . Choose theeorrect option which best expresses the meanmg of
“the underhned idiom/ phrase. " g : 5,
8 5 ‘Hes u_'rﬂ up a hornet’s n
- i 0. A)thrilled the people
"' “B) cautioned the peoplé
L3 0) ﬁ'lghtened the peaple -
“ D) excrted the hOStll

. -"‘:;Nnght Blmdness is caused'by the deﬁcrency of ks
-A) Vitamin A 1 B)AV1tamm B EC) Vttamnn C

14, Dendrology is assocnated with

- -'A) worms B) ﬂowers : lC) roots

15. - Banda Smgh Bahadur was executed by the orders of: whxch of the foﬂowmg Emp. erors"
'A) Aurangzeb 7, B) Bahadur Shah : C) Farrukh Siyar . D) Jahandar Shah
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16.

17.

18.

19.
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Which of the following Mughal Emperor’s tomb is outside India? L e
A) Jahanglr B) Akbar C) Shah Jahan D) Aurangzeb

Who among the followmg is known as the ‘Herome of 1942 Quit Indla Movement”
A) Dr Anme Besant B) Suchltra Knplam C) Aruna Asaf Ali D) .S:a,r.ojun _Na_ldu

Who introduced the systcm of Civil Services? - - '
A) Warren Hastmgs B) Lord Dalhousxe _ C) Lord Hardmge : D) Wllham Bentnck

Who proposed the Preamble before thc Draftmg Commmee of the Conslxtutxon"
A) Jawahar LaI Nehru B) B R Ambedkar , C) B N Rau D) Mahatma Gandhi

: .-_Fundamental Dutles were mcorporated in the Indlan Constltutlon in

ey :‘; A) CD Deshmukh B) S Mukheljce i
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33.  Three of the following words form a group, while one does not belong to the group. Find

out that word. :
A) Intestmes . B) Eyes C) Hands ‘ --aD) Eals

34, In the followmg, three out of the four alternatwes have same relatlonshlp You have to
choose the one which does not belong to the group. Y 0
A) 43 B)S3 . vuninii©)83. D) 73

35. In a certain code language, ‘PRISM’ is wntten as ‘OSHTL’ and ‘RUBLE’ 1s written as
‘QVAMD’. How will “WHORL'’ be wntten in that same code? e
A) XIPSM B) VGNQK. - C)UINSK . D) VINSK,

36. In certam code language pul ta nop’ means ‘ﬁult is good’ ‘nop ko tu‘ means ‘tree is
tall’ and pul ho sop means eat good food’ Whlch of the followmg means ‘fnnt’ in that

; "L’""‘language? ok,
_.A) pul o B) ta e 1

D) Data madequate 5B

C) nop. |

Dlrechons Q.No 37 to 39: Read the pattem of words/numbers and ﬁnd the xmssmg term from_ Lk ‘.
the glven alternatlves : HERE ER

= A AAZ CEY EIX GOW, ?,

L ALUW - B) 1av
38. 561, 532,235,7 : !
A)323. B) 523 -
39, 7132, 156, 1872 210 Pt
cooAme B)240 €.

. A postman started from the post ofﬁce and walked 7 km North to reach Mr Smgh’ PR
“house. He took a left furn and walked 4 km to Mr. Kumar’s house. He took a nght tum | i
" ‘from Mr. Kumar’s house and walked 3 km to reach Mr. Sharma’s house. What is the .i:ii
~ .+ length of the shortest dlstance between Mr. Sharma s house and Mr. Singh’s house? .-
A Tkm L - "D)6km .

41, ;If P+ Q’ means that P is the brother of Q, P _Q’ means that P is the mother of Q and

©1 7P x Q means that P is the. s1ster of Q Whlch of the followmg means that M is the 5,
.. : maternal-uncle of R? LR 5 )

-}A)M R+K

24 D) None of these L

420, -,'_-Neelarn who is Rohlt’s daughter says to Indu “Your mother Reeta is the younger s1ster _
. of my father, who is the third child of hanji » How is Sohany related toIndu? i

) Grandfather -~ D) Father-m-la\s

'ﬁv";vf '-A) Maternalfnnele B) Father ;

43, . iIn the followmg senes, some letters
- the altematives below it. Choose the corr
- ‘c—bba—cab— ~ac—ab-ac SR

“A)bcach - B) babcc

ing Wthh are glven in that order as one of e
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i et i v mtdweys L SR E——— - ——

- Directions Q.No.44 to 46: Study the following information to answer the questions given below:

(i) Eight persons E, F G H I J, Kand L are seated around a square table — two on
-each side. e T
(i) There are three lady members and they are not seated next to each other
(i) JisbetweenLand F, -
(iv) GisbetweenIandF. '

(v) H, alady member, is second to the left of Jo SR
. {vi) F, amale member, is seated opposite to E, a Jady member, . .
(vu) There is a lady member between F and I

. ,,Who among the followmg are the three }ady_members?
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51. The centre of gravity of a hemisphere of radius * r’ from its base measured along vertical

radius is
A) 4rl3 B)3r2 ... C) 3r/8 ... D) 4r/7

52. Ina machme, the ratio in between output and mput is known as
A) Efﬁcrency B) Mechamcal advantage C) Velocity ratio ... D) Leverage

53, Compressmn members are generally called =+ " W R
A) Struts B) Ties C) Purhns _otor e o D) none of the above

54. The theoretleal veloclty ofj Jet at vena contracta jg - efiE
A)2gh B) Zg\fH U o) \fZgh :::;Z:D)__}_lx(z_g

55. Ina free vortex, veloerty e '
~ A) decreases with radlus R
C)is constant ’ i

B) increases wrth radius
D) none of the above

- In an open channel ﬂow, the dlscharge correspondmg to cnt'cal depth is .

8 57 N A i be broken by applymg a load of 20 kg wexght g f ce requlred to break the .
- wire of twice the dlameter B oot "
A ‘f.._A) 20 kg werght B) 5 kg werght i

)50 kg weight ) 160 kg werght :

5 8 _ “A-'_-The deformatron per umt length 1s called |

b ?A) tensrle stress .- B) compressrve stress ‘_ C) s'he_ar_str__ess_' ?D)_strai_n M)

59, i The strength of a beam SCCthA“ depends upon: -
ELE -f_A) its sectional area - - Y ' B) its sectional modulus
0 distance of 1ts'base from NA .'-'-D) 1ts length

{;’The shearstress' prm tpal plane is

04, The varratlon in magnetle declination is termed asl
il A) Dlumal varlatlon : ,B) Solar varratlon 5 C) Lunar varlatron

66‘. k% ;

67. ‘.




68.
69.
70.

71

72,

A) Running speed
A% g C) Spot speed

84,

85.

“The effective size of a soilis ~ ©

. ,When the plastxclty mdex of a SQll is zero, the soﬂ is :
: .A) clay SR B) snlt o _; iy C) sand

- The dlmensxons of coefﬁcxent of permeabﬂnty are f‘;? :
Aem wlon®

_F_loatmg foundatlon xs' a type 'of

The ldeal form of curve Ifor thesurmmt curve is L

. | Thc size of a butt wel_dvls specnﬁed by
i A) Throat thxckness AR
0 Thxckness of thlckest paﬂ Jomed

'A) Deck bridge ~ B) Through bndge C) Serfn-thro : gh bndge ,D) none
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The joints provided in wooden floorare” = . e w8 L o e
A) Tongue and groove B) Butt C) Dove tail D) Tee joints

Rusting can be prevented by applymg coating of ol
A)Redlead B) Wthe lead . ... C) Z@?,-??‘,i.d.‘?: R _D)VBAitumezn_

.Dog-legged stalrs are :
A) Slralght stair . B) Quarter tum sta1r ) C) Hal

r_n)s._t‘a_ir_ D) Three fourth rum stalr '

A) Dlo : L B) Dzo 1_:._'_:;7_: C) DJO

B) Parabola : +0) Cu‘cular

The T-beam bndge is generally co_ e
of the above




86.

87.

88. -

89.

90.

92, .
3.
B A) Well water...
0.

:pH value of fresh sewage is expected to be ,: '-,

. The gas | that is mamly responsxble for explosxon in sewers is

::;{The approxunate we1ght of a bnck sho
A)2.5kg .

'.‘_;Ifa glass 1s made of pure sﬂlca,
“A) Insoluble in watef 0

One cubic meter of mild steel weighs about
A) 1000 kg B) 3625 kg C) 7850 kg D) 12560 kg

Disinfection of water is done by
A) Filtration B) Passing chlorine C) Ozone D) Alum

“The best coagulant for removing the colour of wateris .-

A) Lime B) Copper sulphate .-C) Iron sulphate D)Alum

-The first stage in water treatment is -

A) Filtration B) stmfecuon_ C) Sedlmentatlon D) Coagulatlon & mlxmg

The sub surface water obtained under pressure is generally known as .

_ AOpenwell  B)Tubewel . ©) Iniltration well D) A}tégmweu
91, : y -

Al B3s 0T

‘*’B) Methane s

Desalmat1on is usuaIly done for T

C) Partlally solubie in \véfer :
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KEY

Post: JE Civil (30.03.2014, Morning Session)

Ans,

Ans.

Ans.

Ans.




